S

feeg————————

(376.00]
14.80

(317.50]
12.50

(304.88]
12.00

-

B

ROUGH OPEINING

(377.83]
14.88

(302.59]
11.91

225.52]
8.88
149.40] [176.24] |
1.95 6.94

[317.50]
12.50
ROUGH
OPENING

A

BTS

12/3/2019

CHANGED BLADE FROM VRB10ES TO VRB10ESA

REV.

BY

DATE

DESCRIPTION

THIS DRAWING IS THE PROPERTY OF J&D MANUFACTURING AND ALL THE INFORMATION THEREIN
IS CONFIDENTIAL AND MUST NOT BE MADE PUBLIC, NOR USED TO THE DISADVANTAGE OF J&D
MANUFACTURING AND IS SUBJECT TO RETURN ON DEMAND.

DRAWN

ITEM NO. |PART NUMBER|MATERIAL DESCRIPTION QTY.

] VR183 MOTOR, CONDENSER, 1/8HP, 115V, 8mm, W/Dial| |
& 9' CORD, 3SP, B
2 VRSG10ES WIRE GUARD, ES, 10" ROUND CHROME 1
3 VRSG12A-C | ALUM SHUTTER, 12" x 12" ALUMINUM SINGLE PANEL 1
BLADE, 10", 35 DEGREE, 3 WING, CW, 8MM BORE,
4 VRBIOESA | ALUM ALUM. DD, BULK 1
5 MC14289 gA(ff/\' FACE PLATE, 12" FOR 10" GUARD ]
6 PP 10404 3"x 3" UPC Labels - (2,000 per Roll), é rolls per 1
case
7 OA215 LABEL, SERIAL NUMBER 500/ROLL 1
8 HD10019 ALUM | WASHER, FLAT, 3/16"ID X 1/2" OD, ALUMINUM 4
9 HD10038 ZINC BOLT, CARRIAGE, 5/16-18 x 3/4" 4
10 HD10043 ZINC WASHER, FLAT, 5/16, ZINC FINISH 4
7INC NUT, NYLON INSERT LOCK / NYLOCK, 5/16™-18
1 HD10046 | b ATED GRADE 2, ZINC 4
12 HD10052 ZINC WASHER, FENDER, 3/16 x 1" O.D. 4
13 HD10058 ZINC NUT, NYLOCK, 10-32 4
14 HD 10240 S.S. Rivet, Button, Large Flange, 3/16 X 1/4" Grip, Al | 4
Machine screw, #10-32 x 3/4" hex, slotted drive,
15 HD10358 ZINC hex Wosh”er heo"d, Zinc fiqish 4
y 1D10109 ss_ |RIVET BUTTON, 3/16 0.35756 fo 0.500" Grip Range, | -,
17 1S209 INSTRUCTIONS, ES SHUTTER FAN 1
J& @ L e
M@mﬂﬁ@@ﬁuﬂmcy Vo

XX | *o40 T4 Q

meES SHUTTER FAN, 10 INCH XXX *020 T5 (3 4

xxxx £.010 + 3 2 §
CHECKED DRAFTER QC ENG. MGR. mcl T 05 deg %

DATE SHEET DRAWING NUMBER MATERIAL:
1 or5 VES] OC

CRB 3/24/2014




VRSG10ES
10" GUARD

HD10052 (x4)
WASHER FOR
MOTOR TO
GUARD

®

HD10058 (x4)/®

NUT FOR

HD10636 (x4)
/ SCREW FOR
MOTOR TO
GUARD
VR183
MOTOR WITH

ELECTRICAL BOX
COVER PLATE

HD10109(x2)
RIVET ELECTRICAL
BOX TO GUARD
PLATE

ELECTRICAL BOX
COVER PLATE

— )& | —
Manunlactiisiing,

mmeES SHUTTER FAN, 10 INCH

REV. BY DATE DESCRIPTION

CHECKED ' DRAFTER QC

THIS DRAWING IS THE PROPERTY OF J&D MANUFACTURING AND ALL THE INFORMATION THEREIN
IS CONFIDENTIAL AND MUST NOT BE MADE PUBLIC, NOR USED TO THE DISADVANTAGE OF J&D
MANUFACTURING AND IS SUBJECT TO RETURN ON DEMAND.

SHEET
2 0or5

DRAWING NUMBER

VES10C

DRAWN DATE

CRB 3/24/2014

ENG. MGR.

IMPLIED TOLERANCE

(UNLESS OTHERWISE NOTE

/ ENGLISH  METRIC

XX | *o40 T 1
XXX T o020 T 5

X.XXX t.010 + 3

ANGL T 0.5 deg

MATERIAL:

D)

TEMPLATE REVISED

1/8/09



EEEEEEEEEEEEEEEE

———— [ ] E
7 ) — (UNLESS OTHERWISE NOTED)
< / o ETRIC
mIanmiiactiinin m =
XX *tos0 1 B
%2
XXX T o020 T 5

TTTTT 'ES SHUTTER FAN, 10 INCH

REV. | BY DATE DESCRIPTION CHECKED DRAFTER Qc ENG. MGR.

THIS DRAWING IS THE PROPERTY OF J&D MANUFACTURING AND ALL THE INFORMATION THEREIN |~ DRAWN DATE SHEET DRAWING NUMBER MATERIAL:

A
IS CONFIDENTIAL AND MUST NOT BE MADE PUBLIC, NOR USED TO THE DISADVANTAGE OF J&D
MANUFACTURING AND IS SUBJECT TO RETURN ON DEMAND. CRB 3/24/2014 2 oF5 VES ] OC

1/8/09



HD10038 (x4)
CARRIAGE BOLT
FOR ATTACHING

FACE PLATE TO
CUARD HD10046 (x4)
NYLOCK NUT
FOR ATTACHING
FACE PLATE TO
GUARD

MC14289

FACE PLATE\

HD10043 (x4)
FLAT WASHER

FOR ATTACHING
FACE PLATE TO
GUARD
::ﬂ ! —/ WTHED NS
= v e e
Manniactiiriigg,
: XX *os0 t1 8
mmeES SHUTTER FAN, 10 INCH XXX+ 000t 5 @
xxxxtolo t 35
- - 5
o
REV. BY DATE DESCRIPTION CHECKED | DRAFTER ac NG Mok, o T 05 v @
THIS DRAWING IS THE PROPERTY OF J&D MANUFACTURING AND ALL THE INFORMATION THEREIN | DRAWN DATE SHEET DRAWING NUMBER MATERIAL:

IS CONFIDENTIAL AND MUST NOT BE MADE PUBLIC, NOR USED TO THE DISADVANTAGE OF J&D
MANUFACTURING AND IS SUBJECT TO RETURN ON DEMAND. CRB 3/24/2014 3 oF5 VES ] OC

1/8/09



HD10240 (X4)
WIDE FLANGE
RIVET TO HOLD
SHUTTER TO
FACE PLATE

VRSG‘I2A-C/

©

i

)
nutactin

HD10019 (X4)
WASHER

TO HOLD
SHUTTER TO
FACE PLATE

/
A1)

DESCRIPTION CHECKED ' DRAFTER

THIS DRAWING IS THE PROPERTY OF J&D MANUFACTURING AND ALL THE INFORMATION THEREIN
IS CONFIDENTIAL AND MUST NOT BE MADE PUBLIC, NOR USED TO THE DISADVANTAGE OF J&D
MANUFACTURING AND IS SUBJECT TO RETURN ON DEMAND.

CRB 3/24/2014

mmeES SHUTTER FAN, 10 INCH

QC

DRAWING NUMBER

VES10C

IMPLIED TOLERANCE

(UNLESS OTHERWISE NOTED)

/ ENGLISH ~ METRIC

XX *tos0 1 3
%)
>

XXX F o0 s @

Xxxxx t.o10 + 3 B

- - 5
o

aGL T 05 deg 2

i
MATERIAL:

1/8/09



	BOM and Overall Dims
	Drawing View14
	Drawing View15

	Step 1-Motor Attachment
	Drawing View1
	Drawing View3

	Step 2 - Blade Attachment
	Drawing View8
	Drawing View9

	Step 3 - Faceplate Attachment
	Drawing View10
	Drawing View11

	Step 4 - Shutter Attachment
	Drawing View12
	Drawing View13


